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Q198 @AYl SAIR AR9QRER AIF

1. Measure of scholastic development

can be done using which of the
following test ?

(A) Essay type

(B) Objective
(C) Oral

(D) Allof these

. Which of the following is not a non-testing

technique ?
(A) Interest inventory
(B) Adjustment inventory

D) Work skill test

)
(C) Rating scale
(D)

. What was the name of the German

psychologist, who conducted his

- @'d gml? experiment on learning over a
(A) 6ORUNG Chimpanzee named as Sultan ?
(B) 24019Q (A) Gestalt
©) H6aR (B) Thorndike
. (C) Watson
ol S (D) Kohler

o
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. Which of the following is not a

characteristics of child centred approach
in teaching learning process ?

(A) It is joyful and game oriented
(B) Learner discovers knowledge

(C) With the teacher’s effort learner
becomes active inside the
classroom

(D) Itis a prescribed approach

. To frame a model question, which

characteristic should be taken care of ?
(A) Clarity

(B) Specificity

(C) Relevancy

(D) All of these

- Fill in the blank :

is/are the gateways to
establish, develop and extension of
knowledge.
(A) School
(B) Environment
(C) Family
(D) Senses

- When a child is motivated to accept

responsibility for learning is called
(A) Learner centred

(B) Teacher centred

(C) Learning centred

(D) Book centred

I AantimiAA)



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WitsApp/Call- 8596976190

Download “Tech Of World” App

8. 9T 69Q RN FFS QAR 2U6S' ?

(A) Q8
(B) 91ey
(C) Q&N &Iy
(D) <2°92Ie

9. G4 62 QAR IS TNVIQ FYLGIQ
eSS @2Ig ?

(A) 9IUGQ IREMI
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10.

11.

Graphs are categorised under which
group of learning materials ?

(A) Visual

(B) Audio

(C) Audiovisual
(D) Collected

Which of the following is a factor
affecting reliability of a test ?

(A) The wording of the questions
(B) The physical setting
(C) The respondent’s mood

(D) All of the above

The measure of the spread or variability
of scores in a data is called as

(A) Norms

(B) Reliability

(C) Standard deviation
(D) Validity

Who is the father of micro-teaching ?
(A) B. K. Passi
(B) D.W. Allen
(C) D.D. Tiwari

(D) Prem Chhabra
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12. @@ 122RQ @@g@mm 6956Q 12. Which psychologist coined the terms
't‘i@ QG flede Qseeq”ae 9o 60q “Storms and Stress” in Adolescence ?
@R2JSMm ?

(A)aﬁﬂé — (A) Clark Hull
. B) Kohlber
(B) &Rigned (B) 2
(C) |/ISR W (C) Stanley Hall
(D) 99 (D) Bruner
13. @Y AG6Q, “CANERRI” 62RE Ay 13. According to whom, “value” in human
B IR LRIAQ 2GR ? life is a strong interest of human
A) ZiReaid personality ?
4 (A) Allport
Breds) (B) Pluto
(C) e Smer (C) Josh Billings
(D) HR YU (D) Mack Claski
14. QRANIRGIA JRYIGS AN @ YAEH 9@ 14. Who developed creativity test for the
AAVE ILE FAZYEM ? first time ?
(A) Clexq (A) Travers
(B) IMETIL (B) Guilford
(C) eaaqd (C) Torrance
(D) Q@I (D) Paina
15. GORFRR JAIARR AEWEH @& ? 15, What is/tie Pt el
- evaluation ?
(A) @4 dRAIIR FAUUS L8 ORI (A) Decision of what to measure
(B) QIO 6a186Q ATROIR DR FRIQG (B) To assess achievement at the end
@A of term
(C) d88 e FaIed FASIQ (C) To assess the progress of
([;) Faa agad Gda @asIe learning

(D) To find out learning difficulties
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(D) QRRIINGI ANV

17. 25, 29, 25, 32, 24 G X Q Qe 27

626R, CRICI 668 629 ?
(A) 32

(B) 27
(C) 26

(D) 25

18. 9@ QAMISRIQ ARIFIR G AQAR AAIFER

4 3 10 626, F1&fll 6260 CL?
(A) 1.5

(B) 5.3

(C) 16

(D) 6
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16.

17.

18.

19.

Test that measures learning outcome
of students is

(A) Achievement test
(B) Intelligence test
(C) Aptitude test
(D) Creativity test

If mean of 25, 29, 25, 32, 24 and X is
27, then what will be the median ?

(A) 32
(B) 27
(C) 26

(D) 25

If mean and mode of a data are 4 and 10
respectively, what will be its median ?

(A) 1.5
(B) 5.3
(C) 16
(D) 6

Which of the following is not a principle
of development ?

(A) Uniformity
(B) Continuity |
(C) Individual difference

(D) Predictability
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(B)
(C)
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QUIRY QRIS Te8 gl O 82
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(A) 292198
(B) 6A1Ra0!

(C) 2SSl
(D) QU A3
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(B) amIeh 6749
(C) 88 6Fae
(D) 6MeAC G«
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20. Which of the following factors has least

21.

22.

23.

effect on learning ?
(A) Fatigue

(B) Age

(C) lliness

(D) Gender difference

Which of the following statement about
reliability of a test is correct ?

(A)
(B)
(C)

Reliability is fixed for a given test
It varies from sample to sample

It is not affected by the size of the
sample

(D) High reliability ensures high

validity

Which characteristic of creative
thinking differs it from other general
thinking process ? v
(A) Divergence

(B) Originality

(C) Fluency

(D) All of these

When a teacher decides teaching
method, learning activities and
techniques for the students is known as

(A) Learning centric
(B) Learner centric
(C) Teacher centric
(D) None of these
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4. Which of the following statement is

25.

26.

correct in case of learner centered

approach ?

(A) Allows students to interact with
their teams through discussion and
learning activities

.(B) Passively waiting for teacher’s

instruction
(C) Collaboration is discouraged

(D) Does not give importance to
student’s voice

Which of the following is not a learner
related factor affecting learning ?

(A) Attention
(B) Motivation
(C) Goals

(D) Communication

In lower classes, play-way method of
teaching is based on

(A) Physical education programme
(B) Theories of methods of téaching

(C) Psychological principles of growth
and development

(D) Sociological principles of teaching
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(A) QQIRaQ
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(A) AIRIgeR
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27

28.

29.

30.

The variance of a set of data is 196, then

the standard deviation of the data is
(A) £14

(B) 14
(C) 96
(D) 98

“The education of the disabled children
should be an inseparable part of the
education system for which integrated
programme is necessary.” This

was the recommendation of which
commission ?

(A) Mudaliar

(B) Kothari
(C) Radhakrishnan
(D) Sergent Report

Which type of teaching aid is a ‘Model’ ?
(A) Dimensional

(B) Display

(C) Projected

(D) None of these

Social constructivism in teaching
focuses on

(A) Examination oriented learning
(B) Information oriented learning
(C) Experiential learning

(D) Passive Ieammgﬁg d
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(56 @ 60) PR 2OQ 6Rg |

QI0aoe!, AGAL, S QIR 2iae
Qeet | 768 QIR IHER 9R6q. Zianea
qip QIO6T | 9ES6Q QR aigl aig@ul
60IAS! QIR 622 QI2IS Q1T | Qreg Ga Qs
feliee, @8 99 AR QgD AeT
@SRRI | 6d6Q QIFI AR @ a6 Gosa
418 Fgem aUFY g ALRYI | 80 99
ARGy 696m ALQRUSA A (a5e €Ie
QYRIg ISR |

56.

57.

62QG OR ?

(A) QeI §IS 6w
(B) <€I8Q Q¥ A6w
(C) Q@ I8 6w
(D) 9919 A F6R

PR AAREQ 2l FRQ HAUD AR

2JEMm....
(A) DGR 6209w AREQ G4l QIR

Q3 91

(B) 2IQIYG 6QAIFE AIFEQ a3 QUL
qa 9

(C) ANYS 699Iew A6 a8 G

R0 SIS AR 2EE AT R AR TS | Ry s
267 ARFIRG QR AINER, 6ALSK F1al (D) caie a5
% qél Q19 98 g9
ANY QR AN | ARAVER, 26a 9@ r
58. Q60 Q@GIg 6LER....

ARG Q8 KR, AT QAAQ AR
66QQ1, Ol 626M 2FQ R @1 AR AIRS?
21691 9@ QITl IAVEQ R BGER HAA SS
6AISE @ARI, 606L 6d ¢l 2IF 98 slald
QISR 6AITE AR | AT AARER 2iIF

(A) 2 e Qe6R 9496967 am 92 QYR

(B) 2aqiaea 96 QAR @Sl
(C) 92 V6 UM AL QS

(D) Quea AT

LY

FRQ YA NG AIAYS €QIe AR 59. Cl49 SIR6Q QB I8 Glae ?
369 6 94l QIS 98 GAe | 6ARYIIR 5I6R (A) 88 AG6R6R 4IB GHISE
QE9Ig 626m A1 AG6a AGERER UM B3 (B) I 9IRQIQ QIE FICERIT
QYR, AQUAIRE TeRIARl @R€l, AR §GEa (C) 418 ang F6aaId

R QISR AFER 2ic AR 1 gRAl 621RQ0] (D) @asaie aag

e 6 Zieddia | aaeg 2iag Idsia 60. AGQ 4IF AR @€ /AR ?

REALER |

(A) AN ARG 69
(B) 2AQ AILIQY KA<!
(C) ARNQ R ARSI

(D) @68 6a1686 g6%
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61. Find the correct sentence from among
the following :
\/(«}A’) He is a strange man, isn’t he ?
(B) Heis a strange man, isn't it ?
(C) He s a strange man, is not he ?
(D)

D) He is a strange man, is he not ?

62. |dentify the grammatically acceptable
sentence :

(A) School begins at 10 O’clock

(B) School begins at 10 o’clock
\/2)' The school begins at 10 O’clock

(D) A school begins at 10 O’clock

63. Which of the following is not a correct
statement ?

(A) Assessmentduring teaching -leaming
process is more useful.

.->o(@) Summative assessment is useful
for redesigning the strategies.

(C) Formative assessment provides
feedback.

(D) Assessment is ultimately useful
for improving teaching-learning

process.

Join Us- ‘ > ”

64. Which of the following implies “to utter
with more degree of force” ?

JM Stress

(B) Intonation

(C) Pronunciation

(D) Pause

65. The process of dividing a sentence into
a few sense groups while reading is

known as

(A) eye-span

(B) chunking
\Aming

(D) scanning

66. Primary requirement for writing a

composition/essay is
(A) sequencing
(B) vocabulary

L)Qr idea

(D) style



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WitsApp/Call- 8596976190

Download “Tech Of World” App

67. The book is interesting tq read.

The underlying word IS a/an
(A) adverb

(B) noun
(C) verb

\)‘D)’ adjective

68. | can't lift the box. The full form of
“Caﬂ’t” iS

(A) canot
B) can not

\M cannot

(D) cannut

69. Reading an unseen passage in the

examination hall comes under
(A) extensive reading
(B) reading for pleasure

(C) make happy the evaluator

j) intensive reading

70. Which of the following is considered

receptive skills ?

(.A)_Mng and reading

(B) Reading and writing

C) Listening and speaking
o , AL
(D) Speaking and reading “ S

Join Us- ‘ > n

Read the poem given below and answer
the questions (71 to 75) that follow :

| hear leaves drinking rain:
| hear rich leaves ontop
Giving the poor beneath

Drop after drop;
‘Tis a sweet noise to hear
These green leaves drinking near.
And when the sun comes out,
After this rain shall stop,
A wonderous light will fill
Each dark round drop,
| hope the sun shines bright

Till be a lovely sight.

71. The word ‘I’ used in the poem refers to
(A) the sun
(B) the rain
(C) the green leaves

(D) the poet

72. “Leaves on top” represent
(A) Rich people
(B) Poor people
(9) Green leaves _
(D) the poet and the sun /
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73. The poem is primarily about 77. ldentify the correct spelt word.

(A) mankind (A) Vacuum
(B) the sun (B) Vacum
(C) rain (C) Vacc um
(D) green leaves D) Vaccum
74. Which among the following is nearest 78. Which of the following is useful for
in meaning to the word ‘wonderous’ ? learning language at the beginning ?
(A)» marvellous (A) Teaching
(B) unexciting (B) Explanation ;
(C) tiresome (C) Persuation
(D) tedious (D) Exposure

79. Which language skill competency is
considered most important in teaching-

learning English in India ?

\}Vtistening

75. Which among the following is a symbol
of hope in the poem ?

(A) rain

(B) sweet noise

(B) Speaking

(C) the sun
(C) Reading

(D) green leaves ]
(D) Writing

76. Choose the most appropriate answer _
from among the following : 80. |dentify the grammatically acceptable
sentence from among the following :

Your answer is right.
(A) hundred per cent

(B) hundred percent

((;) a hundred per cent

(D) cent percent

(A) He is tired and so you are
(B) He is tired so you are

(C) He is tired and so are you

(D) He is tired and so are you ?

I mabima
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81. Find the correct sentence from among
the following :

y“’i” have you all to speak English
well within a year.

(B) I will have you all speaking English
well within a year.

(C) lwill have you all speak English well
within a year.

(D) | will have you all of speaking
English well within a year.

82. Primary objective of teaching-learning

English in India is to
(A) ensure better employment
(B) persue higher education

LEydeveiop communication skills

(D) remain updated about

developments

83. Identify the false statement.

(A) English empowers people to getany
information offered by the internet.

(B) English has notonly become atrend

but upmarked pursuit also.

English as a second language is not

available in Odisha State.

(D) English is a link language-

Join Us- ' > w

84. Complete the answer to the question.
“What time does the bus leave ?”,
Mohan asked me.

Mohan asked me what time the bus g

(A) left

B had left

(C) leaves
(D) is leaving

85. ldentify the most appropriate and right
sentence :

(A). You should avail of every opportunity.
to practise speaking English.

(B) You should avail yourself of every
opportunity to practise speaking
English.

(C) You should avail yourself every
opportunity to practise speaking
English.

(D) You should avail every opportunity
to practise speaking English.

Read the following passage and answer
the questions (86 to 90) that follow :

Once upon a time there was a king who
wanted to make all his subjects happy and
conteded. So he asked them to come to him
with their grievances. One man came to him
saying he wanted to leave his small hut to live
in a palace. Next came a woman who had a
fruit stall, complaining that an old lady the
next stall used to sell old clothes and asking
that she might be removed. Another man
asked permission to put his old unsafe boat
Wwhich the harbour master had condemned
out to the sea. The king granted all these
requests. ‘

Al
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A little later, however, the first man came
offering to give up his palace. He found
he had to behave so carefully and keep
such state in it, that he longed to go back
to his comfortable little hut, where he was
happier.

The woman also came complaining that S_he
had lost all her customers, for they came fFrst
of all to buy clothes from the neighbouring
stall and then stopped to buy fruit beforé
they went home. Then what happened to
the man with the boat 2... Well, he certainly
did not return to complain, for his boat was
put out to sea as soon as the king had given
permission, and neither the boat nor the
owner was ever heard of again.

86. The man who went to sea in his boat did
not return to the king probably because
he
(A) had no more complaints
(B) was on a long voyage
(C) was afraid of the king

(D) was drowned in the sea

87. The first man was happier in his little
hut than in the palace because

(A) he could lead a simple, carefree
life

(B) the palace was too big for him

(C) people did not treat him like a king

(D) he was too humble to live in a

palace

Join Us- ‘ > ”

88.

89.

90.

The phrase “put out to sea” in the
passage means

(A) condemned
(B) set sail
(C) setfree

(D) putan end to

The three dissatisfied persons in the

passage must have learnt the lesson
that

(A) there should be a limit to one’s
desires

(B) others can make one happy.

(C) things do not turn out as well as

expected

(D) future joys are sweeter than the

present ones

ST S

The main purpose of the passage is to

(A) tell us an amusing story

(B) bring out a moral

)

(C) throw light on the king's greétri.QSLS'

(D) show how foolish individuals can £
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91, 968 Smieeag: 3,5 15
T 32’

915 606 99168 93919199 SioR cog
60Q?

(A) 692 goIR QAQY 016! 2Ry aigyq 699

(B) 99r4a 619 agatg 101 24
@081 6 905 9590 algl ode)

(C) 9818 9001 a1R 59 5egiea

(D) @RIOFIER 9AR 6ag6ae)

92, a@qa QIien 608 99I0 Srtialne
QI geay?

91.

92,

A learner wrote : §+ o 4

48 3

which type of remedial teaching should
be given to the learner ?

(A)_Give more practice of similar type
of problem
(B) Advise the learner to work hard and

practice the problems on addition of
fractions

(C) Give pictorial representation to clear
the concept

(D) Write the solution on the
blackboard

Enrichment Programmes should be
applicable for which type of leamers ?

(A) fReq (A) Slow
(B) e (B) Middle
() gasIaR () Gifted
(D) 2nggeR (D) Foral

Join Us- ‘ g .



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

6E6IQ AN e ¥q g4 QeQ IR

WtsApp/Call- 8596976190

Download “Tech Of World” App

93. X By QA% awa aa.g 720 ¥

94.

95.

12x @ by @ RQlg, Au720 | y &
6960 ?

(A) 180
(B) 144
(C) 120
(D) 90

RORYe g 6966 @ aRERINEIN
Q64

(A) X2+ \2x- 5

(B) 3x2-2x

ol
—
(C)x+x+

(D) 4g@eeQq QReRIARIR

66 Q48 5% 9998 2a6a T 1,200

410 21868 | 96 @9 66863 62 T 400 83
Gels | go1a @4 6a968 6 6266 O
4360, 91T 2R QR 641 QIE?

(A) T 524

(B) ¥ 528

(C). ¥ 532

(D) 536

—-_—
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93.

9,

95.

pers x and Y is 720
numbers 12X and 5y is

is the value ofy ?

LCM of two num
and the LCM of
also 720. What

(A) 180
(B) 144
(C) 120
(D) 90

Which of the following is not a
polynomial ?

(&) %2+ J2x~ \5
(B) +/3x%-2x

(C) X% + % +1
(D) These are all polynomials

i)

A man borrows % 1,200 at 5% compound

. interest. At the end of each year, he pays

back T 400. At the end of third year, how
much amount should he pay to clear his
,_“debt ?

(A) 524
(B) %528
(C) T 532
(D) T 536
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96. 729 {iam Agaea 18 6 QIfa 2gQIe

97.

7:21 NY6R R 6960 IS AGINER Gon
Ggasa 918 6 QISR AFAIG 7:3689 7

_——

(A) 600 AAR
(B) 710 fidd
(C) 520 fad

(D) ewladc g6

OJRge AQ 6965 FE0R YR 98
9627

(A) 9869 REIYER QFER Q24!

(B) @8 gigne 96 986 1@ age el
QIZIT CORIA 6 RIF

(C) ®1R 607 06 950 @A9I aRad

(D) 289 01960 J@I4 909l TIR 6186R
I8l 99919

96. 729 ml of a mixture contains milk and

97.

water in the ratio 7 : 2, How much
more waler is to be added fo get a
new mixture containing milk and water
intheratio7:3 7

(A) 600 ml
(B) 710 mi
(C) 520 ml

(D) None of these

With regard to nature of Mathematics,
which of the following is not correct ?

(A) Mathematical concepts are
hierarchical in nature

(B) Upper primary level Mathematics
is abstract and does not need
concrete

(C) Argumentation skillis necessary for
construction of knowledge

(D) Mathematics uses special
vocabulary to communicate ideas
precisely

winvs. @ > ¥ BB



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

6E6IQ AN e ¥q g4 QeQ IR

WtsApp/Call- 8596976190
Download “Tech Of World” App

98. Which of the following is a narrow aim

98. RARYE A 694G G FRER 9@ R e |
o (A) To make learners’ proficiency In
(A) QRIIAING Qe 6 QB R handling numbers and number
IR o9 Q44! | operations -
(B) dmiEiniea aiead @96! 98 @l (B) Tg'l('jt?ve'op learners’ generalisa H
. Ny ~ abilities 3 |
(C) Qsyiaey Fda aIR GRIINIRTS g9 (G) Todevelop eamers'abilty foargue
QAR Q80! CQIRE! the truth |
(D) SREIRIGS AUER aecae @86l 49 (D) To develop systematic reasoning
oaql among leamers
99. 6aISN SARATR gA QAIBA QIgR 99, The parallel sides of a trapezium
68a4 320 @ 20 §. 2160 I9° 6A0IAT are 32 mand 20 m and the distance
e | S8acla between them is 15 m, then the area
SR R, © of the trapezium is
ERYTR 66 ?
(A) 290 ale (A) 290 sg.m.
(B) 3904 (B) 390 sg.m.
(C) 780994 (C) 780sq.m.
(D) 40094 (D) 400 sq.m.

100, 99 0RGA6RIETRER, CBIFEAGR | 100. Between two supplementary angles,
aanIe 928 2GYRT 6RI6R 4 g6 AL the measure of the smaller angle is

¢ four times its complementary angle,
?
QARNR 626, 6@16 FAQ DIy 6260 ! ROt ittorancais

s, A) 30
) %° B) 3
(C) 43° (C) 43°
(D) 45° (D) 45°

s e e g o e — ~ e
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101,

P
S
Q v
k. R
YR 9g6a (P = 88°,|Q =47° |R = 320,
SR6R X° @ ORI 60602
(A) 167°
(B) 193°
(C) 253°
(D) 158°
102. C
D
A B

98 ©g69, ABC G999 AC = BC,
[B=72°,CD =167 6 AD, |A
Q caﬂ%aa 268, BD @ 674
6@60 6297

(A) 1640
(B) 1 6QF

f 1

(©) meqn

J§+1
2

6Q%

(D)

m—— T R e S

winvs. @ > ¥ BB

101.

102.

Inthe given diagram, |P = 88°,(Q = 47",
IR =32°, what is the value of x° ?

(A) 167°

(B) 193°

(C) 253°

(D) 158°

C

A B

In the given figure, ABC is a triangle in
which AC=BC, B=72°,CD=1cm
and AD bisects |A . Find the length of
BD.

(A) 1cm
(B) %cm

€) —5—om

(D) =i
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= 6+Jr1,then
103. 9@ x=y6-11 B y=y6+y11 29 | 103. Ifx=m and ¥

ihe value of (x +Y) 15

(X +Y) 6960 629 ?

") 22 () 22
(B) 211 ®) 2411
©) 6 ©) 6
D) iz (D) Ji2

104. 699 QYR Q9Q 622 aaug Geald | 104, If difference ofa num_ber fromI frtsf b
968, GeaIGaR 10626 99, 628 Q'SR cube'is 10626, what is the half of tha

2l 660 629 ? number ?

(A) 10 (A) 10

(B) 13 (B) 13

(C) 12 (C) 12

(D) 11 (D) 11

105. 588 Q QaR10@ A6l 60667 105. The number of factors of 588 is

(A) 24 A 24

(B) 22 B 22

(C) 18 ) 18

(D) 16 (M _= B
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106. Y2 6 43 @ geaw seee?
(n) V6
(B) '¥432
c) V648

(D) Qeae fda ehses o

107. N9 Q1908 QIR 819 Q19 96 Yaig

QAR AUER A AR 9R QTNIIRG
021 GRIGE QAQIQ '8 QRIAN?

(A) 26
(B) Zgeqie
(C) Qa4
(D) 26486

108. “GEie gadint” 69 ALI6RRR A9IGESl

g4 696 gAIR RYIDE 2866?
(A) Q9@

(B) SoRgRe
(C) Racie
(D) AAggea

winvs. @ > ¥ BB

106. What is the product of ¥2 and 4/3 7
) 6
/) 'd432
(6] VEE
(D) Can’t be multiplied

107. Dividing a mathematical problem

into.small parts and frame a relation
among them to find the way of its
solution is known as

(A) Inductive
(B) Deductive
(C) Analysis
(D) Synthesis

108. In “Mathematics Exhibition”, the

questions ‘asked by the observer is a
type of evaluation.

(A) ‘Placement
(B) Formative
(C) Diagnostic
(D) Summative
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ing is not a specific
2 aFa & - . Which of the following .
109. 66% 986 amga ve aca eeaw | 1% ‘;Vbjecﬁve | Mathematics leaming ?

‘F? '
(RAG;Q I 936 @aal (A) Preparation of graph |
(B) g 06R QIGe GQIQ *Qe! (B) Quick calculation of mathematics
(C) 9QQQ &g 4GS @4l
(D) UASEAGR 6AGTR AR GG

(C) Construction of @ rhombus

(D) Calculation of area of a rectangle

To determine a formula with the help of

110. QRTINS GAIE ALIAY6R 6MEQ 98 110. ,
i : experimental proof is a/an

- LA | |
g.g’% ’%QL ST method of teaching mathematics.
(A) 60 (A) Inductive

(B) aesar (B) Deductive

(C) g% (C) Project

(D) 394 QI (D) Activity based

3
111, x=1- 2 626a, (x—ll @ FJmi 6760 111, Ifx= 1= 2, what will be the value of

X 3
(A) 8 X
(B) 642 (A) 8
(©). 842 B) 62
(C) 82
(D) 16 B 16

Join Us- ‘ g .



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

6E6IQ AN e ¥q g4 QeQ IR

WtsApp/Call- 8596976190
Download “Tech Of World” App

e —

112 989 QW s 7,620

UNTER CQIGTR 133 g9ea o 112, The sum of two numbers is 7. If the
el m, ’ ;
t:nbk?? 299 Sl sum of their cubes is 133, what is the
(A) 19 sum of their squares ?
(B) 389 (A) 19
(C) 126 (B) 39
(D) 29 (C) 126
(D) 29
113. 66T GRER 890! 90IR ard
Ny el 408, e 113. The sum of altitudes of a triangle is
than th imeter of the
) 099200 o an the perimeter o
(B) Qeaqp (A) greater
(C) e (B) equal
(D) 01Q 599 L phal
289 A (D) less
114. P (
Q%- 114, p
S = U
& \ S -
I-ﬂk} ‘l
Q' & G Q ' R
96 ©6Q AP = 25'-“.3 24 R In the given diagram, if |P =25°, then
s
6960 64Q7? R4 the value of R is
(A) 25° | | (A) 28°
(B)., 50¢ (B) 50°
€) 75° (C) 75°
(D) 60° (D) 60°
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v C
%8 8868 CD 6 BD gaigeq (C ¢ |ABE
Q A0GH90 | 9o BOC = 28° ¢V,
(ABC+|ACB) 6ago>
(A) 2g°
(B) 56°
(C) 84°
(D) 124°

116. saﬂ@ I8 989 9% 6 9@ qeeagn
o910 QAR §4, 6064

629 |
(A) 999 68607 - o4 6ag0 6RTR

(B) 989 6399w > 8dl 600 6RGTR
(C) 989 6a6T% < og 669 686

(D) 8.6 ocagn 6A9T9 AR6R
PRAWNES 9F620 aIp

o L

JoinUs-‘ g . .Tow

i C

In the given diagram, CD and BD are
bisectors'of [C and [ABE respectively.
If [BDC = 282, thenthe value of

((ABC +[ACB) is
(A).-28°
(B). 56°
(C) 84°
() 124°

116. If the circumference of a circle and the
Périmeter of a square are equal, then

(A) Area of the circle = Area of the
Square

(B) Area of the circle > Area of the
square

(C)Areaof the circle < Area of the

square

(D) Nothing definite can be said abouyt
the relation between the area of the

circle and square



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190

Download “Tech Of World” App

(7. SEI06Q AT A 6al4
(A) 2oR

(B) 2@ ARIQ
C) 49 QR

(D) G996 QIdy gy

" 6208 -

(18. S91E1 6999 ARI6Q Fgeeq oo
QI0RQ 98R?
(A) 98669 RIS 6aay

(B) 6989 086e8 Q@ qiq)
(C) Qd4698Q QI @8l
(D) 906018 ANg

119. a+Db+c=2x 626R, {(x~a)2,

Q916 6991 968 A10% IR 963 1 95 @8

0960 77651 GREIDIAIN, 6668 29 g0
R 69692

(A) 6195140 Q.
(B). 626 374
(€) 70 9%

(D) 163 6%

| —

117. Problem solving as a strategy of doing
Mathematics involves
(A) Estimation
(B) Extensive practice
(C) Use of formulas or clues
(D) Activity based approach

118. What is the role of a teacher in learner
centred approach.?

(A) To facilitate in learning

(B) To create alearning environment
(C) Actas an observer

(D) All of the above

¢ | 119, |fa+b+c=2x,then{(x—a)2+

(X-b)2+ (x=c)2 +x2} =7
(A) (x2-a2-b%-c?)
(B) (x%+a?+b?+c?)
(C) (a2+ b2 +¢c?)

(D) (4% -a®-b? - c?)

120. A shopkeeper on selling a book makes
a profit of 10% after allowing 10%
discount on it. If the marked price of the
book is ¥ 77, what is its cost price ?

(A) T61.40
(B) ¥62.37
(€) T70
(D) %63

winvs. @ > ¥ BB
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121, §9 R GRS QgOIp Gor WIS
AR P
(A) NKEAIN

(B) €Q6QI6RIN
(C) GaEURIERIN
(D) QUVRERNNA

122. F98 699 AT AIRQER 6 AT
QQ4 PIEC ?

(A) 6896 AIRESIFG
(B) 699% 6RIEAYSI

(C) @99 ARSI G6QIES

(D) e@adc g6%

123. ‘W’ (39% Q9/ 9@ 9 RAAIL G8Y I
AR HiF AEEE 8% AULER 2ALS | 9@
AR 6@I6 0 §9, 6069 66T AR
9@ 9% 099 PAFIRR AR NF6a AYITe
@oQIes ?

(A) wtano
(B) wsin6
(C) wcot@

(D) wcos#

winvs. @ >

121. The gmallest Of

122,

123.

ganelle in a cell is one |
of the following

(A) Lysosome

(B) Spherosomé

(C) Peroxisome

(D) Ribosome

Whieh of the following organelles
shows similarity to @ prokaryotic cell ?

(A) Mitochondria only

(B): Chloroplast only

(C) BothMitochondria and Chloroplast

(D) None of these

A weight ‘w’ rests on a rough horizontal
plane. If the angle of friction is 8, the
least force that will move the body along
the horizontal plane will be

(A) wtan®
(B) wsin®
(C) wcot8

(D) wcos 6
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124. RORYE MR cods SR gaieg
QRT GRIS RAER G Qe
(A) QENRK FeQ
(B) [ERQR epe (Gergq QaQ)
(C) 69Q4ee a9l
(D) fIREIcEs

125. QY AARIQ1 9294 64y W9Q o ?
(A) ARQER 216 9e° &5
(B) ueeen, aaaqiq qge a9
(C) aereein 99 qe
(D) zereQiq, o9 ve= a5

&

126. ISR 606 YRINR SER QUAEL
RIRER G0 6RIRAT ? 'JQE?‘

(A) 9I310 g8 Condo agey |
(B) 1810 &8 Saode zaey
(C) Imga ‘aﬂsﬁlm g,am

(D) @aqIeia 'E]IG‘@‘{ 28N

127. adieedd a98Gea AR &96

AA60 6QRE AFNIR QITY 26T ?

(A) QDY6QAEQ AELEY ATIER GOF!
caal

(B) @69 SNSRI @6 @2y Q6986
@R

(C) QUYs 90EE 6AIGINERa!

(D) 2IQ6N@ F6R ACHT FAQI G
ARG 6

r ¥ S
Join Us- ‘

124,

125.

126.

127.

Which of the following is not based on
the heating effect of current ?

(A) Electric heater
(B) Electric bulb (with filament)
(C) Electric iron

(D) Microwave

What is the end product of anaerobic

respiration ?

(A) Pyruvic acid and energy

(B) Alcohol, carbon dioxide and
energy

(C) Carbon dioxide and water

(D) Carbon dioxide, water and energy

Which type of forest is most
extensively distributed in India ?

(A) Tropical Dry Evergreen Forest
(B) Tropical Semi Evergreen Forest
(C) Tropical Dry Deciduous Forest

(D) Subtropical Montane Forest

Which of the following is the learner’s
activity during teaching learning
process in observation method ?

(A) To give instructions about objectives
of observation

(B) To analyse the data by discussion
in group

(C) To provide appropriate situation

(D) To provide correction and help
wherever necessary
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ollowing statement is not

f the f
128 {Which © imental method ?

appropriaté for exper!
evelops the discovery and

128. T6QI9 QYYPe AUQ 6QaC TN
a8G FAes Qage 96w ?

A = d
(A) <20 2FVR G BGANR FFGIR TS (A) It I
Q6Q enqulry skills
. learnin
(B) 9T 98¢ 6QI8 A6Ray<l e (B) It discourages rote ?k 4
foale ecq (C) Teachers can do other work while
in experiments
(C) d|eAler aaIgl @AQ ANAER learners engage ! ' P i
J9Q N QU QAAIRER (D) Science laboratory 1S requue
(D) \0I6Q FRIRIFING 2SS 28 this
129. QQRAYS AUQ 6266 RIQE JEFA 129. Which one of the following is not an
Q6% ? oxidation reaction ?
(A) QLA T AT (A) Rusting of Iron
(B) 6QIgl 6QIOM 6SIRS! (B) Opening of soda bottle
(C) QeI aegl (C) Rancidity
(D) e*F de9l (D) Combustion

130. 9960 9IRS 27 BAINR Y4 FTAER 130. Which of the following statements is
correct about an aqueous solution of

anacid and of a base ?
i. Higher the pH, the stronger the

36 GAAIRS FRIQ ERLS OR ?
i. pH 2@ 66w, 94Q (29) 9849191 99

i. pH 2@ 626m, AR (A7) QR 9 acid
iii. pH @A62ER, AR ITAIM 99 ii. Higher the pH, the weaker the
iv. \pH @6 6265, AIQ 9@ 94 acid
q0R g 6298 - iii. Lower the pH, stronger the base
iv. Lower the pH, weaker the base
(A) 199" iii o
The correct option is :
(B) i< iii (A) i1andiii
(C) iiage iv (B) ii and iii
(C) iiand iv
(D) Qaexs 6@lEAC Q6% (D) none of the above

winvs. @ > ¥ BB
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131. QORYe MUQ 6RET IWE ATIGIRg

R QERGY QEL?

(A) ERRIFGKAINS 948 6 QIdYg garQl

QG B AAINE FIAR1 AFS
gIg, 914 G TeYeq ¥R Qaa

qaq G 98 96T Q8 aaqy
QAR SRQ

JNRS Qag YRIFY 694

132.

&

F6QI9 IR 6RNS BIRIND QERGYG
QN ?

(A) GI3Q 38R 2raa AIf SRAIRSN

(B) 6 $QI0 6210ESI AENG dalpal

() 2ags AR6R G BT IeRIR
oael -

(D) FR0R §QAA9LLAE A2 9IRS

133. 6066 6900 04 9908 IR Fa G6% ?
(A) ‘@ 92 G ‘¢ 2Aa 6RIeR QId A6
gql AW QIR ORI ARSI 2R

‘@ 99 PRRIEA ‘W AR K| TR
QE QL AP

(B)

(C) afd g4t 6915\ gAIEa QLRI 90R

J6SIe 3A6Q ANRIGIA IQI°8 QLS
20Q

(D)

winvs. @ > ¥ BB

131. Which of the following is not an

132.

133.

objective of teaching science ?

(A) To read the biography of scientists
and to appreciate their nature and
work

(B) To describe the graphs, charts and
pictures

(C) To solve the problems by applying
the laws and formulas

(D) To give importance to the teacher

Which of the following activity indicates
the cognitive domain ?

(A)
(B)
(©)

Tell the parts of a vehicle
To repair a damaged fan

Use of charts and graphs at the
appropriate place
(D) Describe Newton's laws with

examples

Which is not a principle for preparation
of matching type questions ?

(A) Instruction should be given about
the relation between the items of

Column ‘A’ and Column ‘B’

There should be less number of items
in Column ‘B' than Column ‘A’

(B)

(C) Question should be completely

placed in one page

(D) There should be same type of items

in each column
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134. A9 FNRER TATEG G @0 9I®

QodR SR8 FRISINIRE RS 686 9RI9

CAIRR AN ?
(A) QREFS AV
(B) 9OQIQee A[IRIR
(C) 2R9R AR

(D) IR AV

135. Q9C FOCER 698 QUG gn QIR
Q6Q ?

(A) QQE* Q@
(B) T&IR

(C) eq164d9
(D) a4

136. QIgiga gRAIR [ITIGAIRT @& ?
(A) e

(B) aqsaust
(C) L6RIRT N INEKGR

(D) QU6QIS 6@EAT 6%

137. @AI6 299 g6 94 9o @6 ?
(A) @Q 99° Hean
(B) 99, 56 99° Gq
(C) o7, @a 99° Geam
(D) @9 Gq

winvs. @ > ¥ BB

ning should be done

. lan
134. Which typ® s pased on the result

135.

136.

137.

for weak students

of assessment ? .
(A) Developmental teaching

(B) Remedial teaching
(C) Enrichment teaching
(D) Universal teaching

Which stibgroup in plant kingdom
produces flowers ?

(A) Angiosperms
(B) Fungi

(C) Mosses

(D) Ferns

What is the mode of nutrition in
bacteria ?

(A) autotropic
(B) heterotropic
(C) autotropic and heterotropic

(D) none of these

What is the composition of Gunmetal ?
(A) Lead and Nickel

(B) Copper, Tin and Zinc

(C) Copper, Zinc and Nickel

(D) Lead and Zinc
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138. 'L;“(‘]\;-:}\‘:‘ilf-‘ Q”@_‘l@@ ﬂug 69@“‘@ QQOIQ

QAR ?

(A) aAPHRAA
(B) ¢4
(C) «Ql

(D) el

6eRE QRIG 996 FIf AR 9Q

139.
QRIAT 26T ?
(A) QLyead
(B) SRYcIma
(C) gea QI
(D) 95 YR
140. 0% @e6a @ 5% 82: 9e SRIQ
JRI01Q F34 AALER IRV KO8 |
Qgea6R 2R q_‘g"éll 2gale
Q6w 696R6QR
qQul IR 1 G =
Pl argea 2IET] Q6%

921 99 609 9RI0R JRYIAE QARG 26 ?

(A) AG8I9R1 9IR€
(B) 696”62
(C) ©oR% Gl
(D) adyeeaE ARG

winvs. @ > ¥ BB

138. Which among the following metals is

the lightest ?

(A) Aluminium

(B) Tin
(C) Lead
(D) Copper

139. Which is a tool used in science
learning assessment process ?
(A) Observation
(B) Checklist
(C) Project work
(D) Portfolio

140. Put @ mark in the correct answer :
Teacher does experiment during
teaching learning process of science.

i avs Whenever| | Sometimes as
y required per requirement

Very often inspite

of all facilities Hovey

Which type of assessment tool is it ?
(A) Anecdotal record

(B) Rating scale

(C) Checklist

(D) Observation schedule
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141. 89 600 69410 2RGS ?
(A) edaie
(B) foiq
(C) amia

(D) @aecaIe 6REAT g6x

142. cFcaIUgl Qg4
F1RIER 68E 99 |

(A) 21Q25ad
(B) 18 @21Qd
(C) 10Q12@d

(D) 16 @18 @d

143. 3RS FRIQ 6996 RRY AR 9e°
P6II0R VTR LS 972

i. 2RFFAN FIREST
i. NI AMETS
iii. egIgIdAn
A0R 2T 990 K9G
(A) 6@a% i
(B) e@aa i qe° iii
(C) 6@a@ i 492" iii

(D) i,ii «a@” iii

winvs. @ > ¥ BB

141.

142.

143.

Mushroom pelongs t0
(A) Algae
(B) Virus
(C) Fungi

(D) None of these

Adolescence ends between the ages of

(A) 21to25yrs.
(B) 18to 21 yrs.
(C) 10to 12 yrs.

(D) 161to 18 yrs.

Which of the following is/are used as
both fertilizer as well as explosive ?

I. Ammonium nitrate
ii. Calcium sulphate
ili. Potassium

Select the correct option.
(A) onlyi

(B) ii and iii only

(C) iand iii only

(D) 1, ii and iii
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144. N, + aH, = bNH, Qa1eQ86q,

145.

146.

147.

Join Us-

a b =i @4 6eQ ?

(A) a=3;bh=2
(B) a=2;b=3
(C) a=2;b=2
(D)L a=33h=.

1R6Q 8% 4°C @ 0°C 29696,
IR AVONEA @ UALER A6G?

(A) D26A LA 9 99° GITCA §& A6E
(B) Qqiq agarg

(C) & 29

(D) 2Kag

T QIR GE] 9P QAR J2ACA GT
QTSN 9L AR FPAR AR AGFA
@M 66 629 ?

(A) 2mr

(B) mr
(C) 9%
(D) 2r

GmIn6a 2l ASIelg AFARR @AS
aIe a0 9Ree QRTIA 621K ?

(A) ZIERUSFI
(B) agaia
(C) Qcagé
(D) Qe

@ > F B3

145.

(68)

146.

147.

144. In the equation N, + aH, = bNHg, what

will be the value of aand b ?
(A) a=3;b=2
(B) a=2;b=3
(C) a=2 ;=2
(D) a=3;b=3

When 1 litre of water is cooled from
4°C to 0°C, its volume

(A) first decreases and then increases
(B) remains the same

(C) increases

(D) decreases

What would be the displacement of

a particle moving in a circular path of
radius ‘T’ after a displacement of half a
circle ?

(A) 2mr

(B) mr

(C) zero

(D) 2r

Which method is used to find out the
truth in science ?

(A) Discussion
(B) Guessing
(C) Analysis
(D) Thinking

(Continue
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148. Q% QA 9ca SwIe dx9na QQQ

149.

150.

Join U

@OQ 699 ZIeEyE 2

(A) 99 AINER UREIQ RIS 6NRAINS)
(B) Qe @& rer agel

(C) amieha AiInde gdal aasa Joa 64
(D) IRIYPS @asa 2yeq 2@ J9Q 626!

QEEMITD 99° gHuIg anaea ZIRId
QIR 6QSINAIR QNG &6 ?

(A) iema Sgae

(B) 2ERLDN @&

(C) 2eaeq 9oTee

(D) ZERPR JEAAE]

92geaa AIRNe g AUQ 6aRE
‘UG YL’ NIER KNG ?

(A) 99, 9296, AR 9e° 45

(B) Aerw, 4, 46 9e° gAIRY
(C) 924G, 45, 4e1aq 9e° 69999

(D) 924G, Aere, J2Jal 9e° 69999

. @ > ¥ B

148.

149.

150.

What should be the naturé of science
teaching in upper primary level 7

(A) To repeatthe concepts by asking
questions

(B) Remember by rote learning

(C) Give emphasis on the mental

process of learner
Give more and more emphasis on

the concepts

(D)

The redness in atmosphere at sunrise
and sun-set is due to

(A) scattering of light
(B) dispersion of light
(C) refraction of light

(D) reflection of light

Which of the following combination of
planets is known as ‘gaseous planets’ ?

(A) Venus, Jupiter, Mars and Saturn
(B) Mars, Venus, Saturn and Uranus

(C) Jupiter, Saturn, Uranus and
Neptune

(D) Jupiter, Mars, Earth and Neptune
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91. QIRCQA ACQIL ALFR 9 I 91. Approximately what percent of the total

660 RIFER G FRRI CQHIAN ? volume of India has alluvial soil ?
(A) 25 (A) 25

(@) 43 (B) 43

(C) 65 (C) 65

(D) 83 (D) 83

92. 92R1R 699 A9R gUiT goyd @9 92. zone of the Earth

28 Q6 ? receives direct rays of sun.

(A) @aaeq (A) Frigid

(B) g (B) Temperate

(C) QTAELIB 8w (C) Torrid

(D) Q6B AN (D) All of the above

93. QIRGE Y8 AU 6QQ% QINGER 6AIIR 93. Which of the following battle paved
AQIFIR ¢JRGe AXREMI? the way for the foundation of Mughal
Empire in India ?

(A) 2 il (A) First Battle of Panipat

() Getaaicaz ga (B) Second Battle of Panipat

(C) amd 9! (C) Battle of Plassey

(D) GQURR 9F (D) Battle of Tarain

Ee) i~ antinted)

Join Us- ‘ > n
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94. GRS 6AIG SR AUQ S SIS

95.

96.

A9 99 99-9-Geaql Jeae @aeem ?
(A) QITERIN EMIQ

(B) QQIZC SMIT

(C) AL RIS

(D) QUGS AFY

QBB AR 6RAT PELIR TV
AUV ARGAIR ABY 2UES ?

(A) €I689Hal, 2a0d @RSl 6 QId)y

ARIFIER Y&

23904, ALIEIVE G QIAY AIIA6A
B
AQARIR, ANIERRE B F6RAHSI

2AFARIR, ALICVE G QILY AIFIER
BN

QEQlR JVNQUNCR LGSR SIS
AIFNEAS FFE ATDEQ T 69Q ARGE
QAL 2I6S?

(A) 6918 ALY6IAS G Al6RISR

(B) 96048 ALi6SRel G 2SRRI

(C) 69% ZIeMSAN "

oTaTat
L2403

(D) Qa6aIs AAS

Join Us- ‘ > n

94. Which of the following Lodi ruler

95.

96.

introduced the Gaz-i-Sikandari to
measure the land ?

(A) Bahlol Lodi
(B) Ibrahim Lodi
(C) Sikander Lodi

(D) All of the above

Which of the following is correct
in laboratory method of teaching
geography ?

(A) Learning by doing, imitation and

memorisation

Learning by doing, observation and
imitation

Learning by investigation,
observation and memorisation

Learning by doing, observation and
investigation

(D)

Which of the following method is
applicable while teaching international

date line in geography ?

(A) Indirect observation-cum-Discussion
(B) Direct observation-cum-Discussion
(C) Only Discussion

(D) All of the above
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97. 6R AANITER TRATER A 6ad

QRN QILIQ &8l QAN ?

(A) QQ9e

(B) 9@

(C) @agia

(D) AIRQH
98. J9QIS ISCAIRIA ELID G 66QT ?
(A)
(B)
(C)

2AARE

RNEQ R

<[te

(D) 6QBAIR1

99. IRIF VAR YT LRI AR @ ?
(A) SUARRG

(B) @@a1acael

(C) 9690l QUIRA1

(D) Qeandl ade

100. 696 §2alL 9IF1E AR LI

2SS Q6L ?

(A) 9BI8e A8S
(B) QI @S
(é) QIFl QLGS
(D) &R AASQ
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Frm—

O/c

98.

99.

100.

A landmass bounded by sea on three
sides is referred to as

(A) Coast
(B) Island
(C) Peninsula

(D) Plateau

The highest peak in the Eastern Ghats is
(A) Anai Mudi

(B) Kanchenjunga
(C) Khasi

(D) Deomali

Who was the first woman Chief Minister
of Independent India ?

(A) Jayalalitha

(B) Nandini Satpathy
(C) Sucheta Kripalani
(D) Vijaya Laxmi Pandit

The three tier system of local
government does not include the

(A) Panchayat Samiti
(B) Village Committee
(C) Gram Panchayat
(D) Zilla Parishad

ICAantiniiad)
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699 2AQWR B gIEAKe] AR 658l
RUACKIG VUG RELIAR TIOYFA A6
AIGER! QRS RAEER ?

(A) NCERT

(B) NCTE

(C) ICHR
(D) UGC

RELID FRIQIT ATAER LS TG
Q 2AIF TS 629 0] AUER 2ARIKES ?

(A) A°YER ACSIQRT
(B) €2I9Qs
(C) 998994
(D) 2WQE

699 FQIG K g8 QARSI T 69R
JIEe 6228 ?

(A) Q291
(B) oM

(C) <l6Qq
(D) 9%9e

“IQ Q6] ggeRIal LRI
QAIQG 98 °N QI UNe’- IF 909eT

FORGE 69Q AUFIOG QRS 998 ?
(A) AURGIR YRR

(B) IFGIQ ZRIQ

(C) 64188 QQE AYRR

(D) UGS AYGSIR EUYRIQ
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101.

102.

103.

104.

Which institution suggested guideline for
class wise distribution of Indian History

syllabus for upper primary stage ?
(A) NCERT
(B) NCTE
(C) ICHR
(D) UGC

Biographical method of teaching history.
based on which theory ?

(A) Cultural epoch
(B) Great man
(C) Cyclic

(D) Developmental

Which one amongst the following rivers
flows through a rift valley ?

(A) Mahanadi
(B) Tapti

(C) Kaveri

(D) Brahmaputra

The situation like “13 year old child
working in a factory manufacturing
carpets” violates, which of the
following Fundamental Rights ?

(A) Right to Equality

(B) Right to Freedom

(C) Right Against Exploitation
(D) Right to Freedom of Religion
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JANYS QURIGES 49 6aQ QIgya
SnIRdEl 2IAR Y ASRYS ?

(A) ARG

(B) QUG

(C) a2

(D) UYL

3G9I6Q ARA-IS AYAXG SR
JTRAR ASEFS 019 @F9-adicIeq
ANRAATA GRI IS 296 ATCAIRIG
@ 9910 QIS QIAN?

(A) Q80K AIRAZR

(B) o alesy2Esm
(C) 209RE ATER 2R

(D) @Q6QI9 6x1435 g6%

629 FQ9H JIFASE AR ASFES ?
(A) 21

(B) 2Ieq0@1e

(C) ISP ARV

(D) QUEQAUB AL

T8RP GRAIY AN 26T, 218IQ
2IPYNQ ARe] @Fl IR eI Q6% ?

(A) aaae

(B) QIGHIECIR 18R

(C) gIgaae

(D) QU6RI8 67166 6%
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105. Which among the following States has

106.

107.

108.

the largest number of Lok Sabha seats ?
(A) West Bengal

(B)
(©)
(D)

Gujarat
Assam

Rajasthan

What type of topography is the mountain
range, extending from the Shimilipal
range of Mayurbhanj district in North
East to the Malkanagiri district in South
West ?

) Western plateau region
B) Mid mountainous region

(A
(
(C) Coastal plain region
(

D) None of the above

desert lies in the torrid

zone.

(A) Arabian

(B) American

(C) Cold desert
(D) All of the above

The climate i'n“the _Zone is
moderate, that is, neither too hot nor
too cold.

(A) Frigid

(B) Temperate
(C) Torrid =
(D) None ofithe above

Vo DR TS A Y
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Al
109. QUAGIH FIVIG UCRIRE ANAER @ﬂ@fi
cod dea ldge goaIe! sRIaI) ORa

oJ6M ?

(A) Q9Iea
(B) ceara
(C) sxqai
(D) 296 QRIa AR

110. ALIF FING YRITS AT Q0IASI FIR
JSEQ IR el QIAEl @6 gl ?
(A) 29 9Q° JARAIGAIRE IEQ 2RI

@Gl 28l
(B) 29 9Q° Q20w FI6Q 2RI

@Ol 2I8S

(C) HR2AR IQ° ARG FIIER
2RI IRGI 28S

(D) QA6 6REAT Q6%

111. AI9S 2RIFIQ AU6Q R0 FOA°Q

2I6AG 6969 YOI 6LARAR ?
(A) 1946
(B) 1950
(C) 1949
(D) 1948

112. Q9990 @671 ALIT0 62IR2S! BInGq
JeIrl QIeas 62089

(A) @8Qleag 9AIQ

(B) ©8I06% 2Qgm @RIgl
(C) 199 qeiieT

(D) €1 NRA LRI 6081
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109. Which of the following newspaper was

110.

111,

112.

founded by Lokmanya Tilak during
Indian National Movement ?

(A) Yugantar

(B) Bengalee

(C) Kesari

(D) Amrit Bazar Patrika

What was one of the main reasons

behind Mahatma Gandhi’s decision to

take up the Khilafat issue ? -

(A) To bring more unity among Hindus
and Muslims

(B) To bring more unity among Hindus
and Christians

(C) Tobringmore unityamong Christians
and Muslims

(D) None of the above

When was United Nations Commission
on Human Rights established ?

(A) 1946

(B) 1950
(C) 1949
(D) 1948

The first President of India w_hg elected

unanimously was
(A) Dr. Rajendra Prasad

(B) Dr. APJ Abdul Kalam

(C) Sri Pranab Mukharji

(D) Sri Neelam Sanjeeva Reddy
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113. FINYE 699 AR16Q WaaaIs 9q 3
621 AEG €K1 ?
(A) 2eRg eI
(B) 2icaa el
(C) faIede dg!
(D) 6x6ATER Q6L

114. G6QI8 QRGAFR RIQ 6RAYER KW
98 6Q3QI ?

(A) Q910 adsqR
(B) AR
(C) gadal
(D) QISI% FQEAS

115. Aga 6eaf ARaINe Qdal ade
FRICRII RRIQE KB ?
(A) 98
(B) fRuI0R
(C) aId
(D) Qa4

116. 606 RELIQA FTIAFER IR GaY-gIaY
SR8 QR4 263 ?
(A) Q4
(B) QIR
(6) QIRQIF 9a
(D) 8%
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113.

114.

115.

116.

Minerals are deposited andaccumulated
in the stratas of which of the following

rocks ?

(A) Sedimentary rocks
(B) Igneous rocks

(C) Metamorphic rocks
(D) None of the above

To which one of the following types of
vegetation does rubber belong to ?

(A) Tropical deciduous
(B) Himalayan

(C) Tidal

(D) Tropical evergreen

Which of the following refers to
quantitative description with value
judgement ?

(A) Measurement
(B) Evaluation
(C) Test

(D) Judgement

Which is an audio-visual aid in history
teaching ?

(A) Charts
(B) Dramatization
(C) Loudspeaker
(D) Picture
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& - ich of the
117. QQREQ 699 20Ql ARG IREQ GG 117. Couple burial was found 1N whi

Qe 699S1g A6R ? following Harappan sites ?

(A) 6RIELEIQUCA (A) Mohenjodaro
(B) ead (B) Harappa
(C) SIg-Qlsal (C) Chanhu-daro
(D)SCRa (D) Lothal
118. 629 Qd @8 292 QAR FERR 118. Inwhichyear did the EastIndia Company
QUIR AN QR ? acquire the Diwani of Bengal ?
(A) 1773 (A) 1773
(B) 1791 (B) 1791
(C) 1765 (C) 1765
(D) QU6QUIS 6TGAT @62 . (D) None of the above
119, J6TIR 6IRE AG6Q PEAIL FAGIRa | 119. According to Prof. Holtz, what are the
oM QERNY QR @&l ? - two aims of geography teaching ?

: (A) QLIRS B ANER (A) Practical and Social

(B) NI G A°YoR (B) Practical and Cultural
(C) AT 6 QGa F o (C) Cultural and Artificial
(D)%@g@ aage | (D) Attificial and Social
120. PECIR GAE6Q QYLD 31@9'_9'@19! 120. To know the humidity of the atmosphere
QIS 696 9ae Ay felaieag? | which instrument is necessary while
e | teaching geography ? -
A ecRlc R e e o [ (A) Thermometer
(B) 496 219 2l6¢iIFiea (B) Dry and wet thermometer
e o | (C) Maximum and minimum
(O caseua(zqe@a EIG?IIQG'Q | thermometer
(D) G‘IG??IG' E]EB o o e (D) Barometer

Join Us- ‘ > ” ??\?
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122.

123.
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609 QYA IR 29 MGG

QAN IQ° 6RGIN CAINCAITER AIFIAY
Qa2 ?

(A) 696QIQ2R
(B) asdRAQ
(C) 6eIeaIRAR
(D) K6SIF2RQ

629 SIFNIGIEA FRA ASRIS ARG

el ?

(A) 100°C
(B) 4°C

(C) 0°C

(D) —4°C

J6019 691 AMNYFR AR @Gt
AAY6Q e ANIQ A ALY FIA

AAYE FAUS ?

(A) 21§I6@4, ALIAUE I9° FRAUS

(B) QARIAUY, YRAIT, AGIS IQ° QIR
(C) 9LUS,; IR, 22K 9Q° FRIGERS
(D) QLAY FRIYGERE, GRAIS 9Q° QAUFAIR

124. GORge SE890e AR 6R4E

YPTER 6 0I6Q 2P AEAIRS
621@elN ?

(A) 29

(B) |9IaQ

(C) QLA

(D) eql
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121.

122.

123.

124.

Which atmospheric layer contains ions
and helps in wireless communication ?

(A)
(B)
(C)
(D)

Mesosphere
Thermosphere
Troposphere

Stratosphere

Water has its maximum density at what
temperature ?

(A) 100°C
(B) 4°C
©) e
(D) —4°C

Sardar Sarovar Dam built over Narmada
River benefits which of the following
States ?

(A) Andhra Pradesh, Maharashtra and |
Gujarat

(B) Maharashtra, Gujarat, Punjab and

Haryana

Gujarat, Punjab, Haryana and
Madhya Pradesh

Maharashtra, Madhya Pradesh,
Gujarat and Rajasthan

(C)

(D)

Koderma, in Jharkhand is the leading
producer of which one of the following
minerals ?

(A) Mica

(B) Bauxite
(C) Iron ore
(D) Copper
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3 Y @Ial
Nl 32 QUeeIa QRIS cea ©
216G ?
(A) «uel— |
(B) w6l — Il

(C) el — I
(D) «uel— IV

Qlac1a aRIRe 99 eimaIa el

S¢) g 694 6eaQ ARG FRIAIRE ¢

(A) QR4 AT
(§) Zieamell
(C) QKIQ
(D) edie

662 986 IRl 99 G 2Ig QQ 2A6HIFS
QQl QAYLRQ 2GSl AId LUAIR IR
QAIREER IRIF QAU ?
(A) QUKISIQ FEIRT
(B) QI6aF
(C) aiad
(D) QA6 ANY

709 699 QAeRdT AN Qaeqg
26AAI Y PRI TS Angeq 2R
QLR 6RIRANRAQ ?

(A) S1969 GAe Tl 6qIQ (60SIR 6qu9)
(B) QRIS 6qIe

(©) ©e

(D) @@IDNER AT
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125.

126.

127.

128.

Article 32 belongs to which Part of the
Indian Constitution ?

(A) Part—1

(B) Part—II

(C) Part—Ill

(D) Part-— IV

The idea of the Concurrent List of
Indian Constitution has been from the
Constitution of which of the following
countries ?

(A) South Africa

(B) Australia

(C) Canada

(D) Germany

Which method is appropriate to measure
the humidity of the atmosphere by dry
and wet bulb thermometer and mention
it in a chart ? |

(A) Laboratory

(B) Observation

(C) Experimental

(D) All of the above

Which of the following instrument must
be used mostly than other instrument

" while teaching latitude and longitude ?

(A) Skeletal globe

~ (B) General globe

(C) Picture ;
(D) Drawing on blackboard
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G99 AUQ 6998 e eaq AT
J68AeIR CaRIel QAR geg ?

(A) 9O 6RLTR

(B) Q0% &G

(C) Q0= @4

(D) Q0= Q6aQ

F6CID 6QQ AE[EYT RETIR FVIAREQ
2QaIe QIR QETIR ARG Gal, Aiagl.
Q09, 16 Q1 ANI8 QAR ATYCER 26 2

(A) RGa aeasy

(B) 9@ a09 RQ6QI91 REREY
(C) ARG Q64

(D) @usque 69163G g6

ARCAE FARIN6R QA @I, aidi

RUVNER Q12 YA AFRIQ FAUAIRYRI ?
(A) oG

(B) UM A&
(C) *QIga

(D) 2f aqIq deda

029 aie ‘691a eolar 6aR GRIEA
2QES ?

(A) 9AIOQIS

(B) 6eIosga

(C) @Iege

(D) g

PN IN
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129.

130.

131.

132.

Which of the following is not an essential
feature of good map projection ?

(A) Correct area
(B) Correct shape

(C) Correct direction

(D) Correct symbol

Which of the following objective of
teaching geography is necessary to
know the facts, concepts, laws and
principles of geography ?

(A) Specific objective
(B) Short term objective
(C) General objective

(D) None of the above

Ramayana was translated into Persian
at Akbar’s court by whom ?

(A) Faizi

(B) Abul Fazi

(C) Badayuni

(D) Haiji Ibrahim Sirhindi

The historic place ‘Chauri Chaura’ is
situated in which district ?

I(A) Prayagraj

(B) Gorakhpur
(C) Kanpur
(D) Agra

I ambimiia Y
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133. 6@ (dQ6Q QT AT QR
CEIRAR ?
(A) 1906
(B) 1909
(C) 1910
(D) 1911

134. 6QIQQR AUFL°F, AIL | TAUA QUK

SY96Q IS 6LRAMI, FIT 69R URRIL
2QQIEQ gR8 G 62ARAIRYMI ?

(A) @Gl

(B) «*euIS6qIam

(C) Isd@q

(D) 92z

F1e1% G981 8 A6Q8I 9aae (NCERT)
1988 A132I5a 28gI2i@ 6941 6QRYS!
AI9eRI6R G99 6990 Q82IQ AR
QERFIRER JAIAE AULIIRE?

135.

(A) 99Q PR6a NG AR IR G4
JReRaa 9gs 6QIAInge 962

(B) QA6 AR deda Foede Gy
9% 6390 997 9869 Ye° I0ede
QA geI9a @69 -

(C) dRNAIET YY1 FAAQ Jaagd
Q2NIeR FIGER

(D) POLAAR 666 QL 626, FRNIAIEH
6Q2Q G2IA 98 QARIg A8A ceeaT

Join Us- ’ > ?

133.

134.

135.

cancelled

The partition of Bengal Was
in which year ?

(A) 1906
(B) 1909
(C) 1910
(D) 1911

The Bourbon dynasty, which had been
deposed during the French Revolution,
was restored to power after signing the
treaty of 3

(A) Vienna
(B) Constantinople
(C) Marseilles

(D) Prussia

Which of the foliowing is the objective
of teaching history as suggested in &
guidelines for upper primary stage by &
NCERT in 1988 ? ]

(A) To promote an understanding of _-‘ |
the major stages in the evolution of
Indian society through the ages

(B) Given certain historical happening
of similar type and pupils should ¥
analyse their causes and develop f

historical laws

(©)

Pupils should know the significant
facts in world history |

Given certain sources of history, &
pupil should able to construct
history out of them
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136. Q02 &A AP AVAER 68GE g 136. Which is not a basic principle in project
AR IR ARG R Q6% ? method when teaching history ?

(A) QSR A

(A) Activity
(B) <8 <ae (B

(

(

Narration of story
(C) AR

)
)
C) Purpose
(D) VRV )

D) Experience

137. @!QG‘AGGPGGI@ Pedt 2AEREQ ) 137. India is divided into how many
LR ? earthquake zones (seismic zones) ?
(A) 4 (A) 4
B) 2 (B) 2 ’
(C) 6 (C) 6
(D) 5 (D) 5

138. FORAYC ARIQ 62RT JINR LIAAIG! 138. Which one of the following is the most
Q9QQ IRIRS 89Sl Ag0IQ FRRIE QI important factor that influences the
2160 ? distribution of temperature on the earth ?
(A) DR6ARAR (RFRG!) (A) Insolation
(B) 6dac@qe (B) Solar radiation
(C) §OR I@ae (C) Terrestrial radiation
(D). 616G geg (D) None of the above

139. GIRNYES 692 AR 1689 — : 139. Which of the following Act was based
601Q6TIE A6AIS 2IIRER 62ARAB ? on Montague-Chelmsford Report ?

(A) UG WS 1892 A2 2IRS (A) Government of India Act, 1892

(B) @I9e Aoeiaw 1909 aAdel 2RQ (B) Government of India Act, 1909
(C) wIae Qeeiaw 1919 adel 2RL (C) Government of India Act, 1919
f‘ -y
(D) QUG AR 1935 ALl 2N (D) Government of India Act, 1935

Join Us- ‘ > ”
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140. 696 699 Q9gYea A9 Q€A AYES
dig (16918 QI 6Q1E° 2RIRIQ 2GR

QM ?

(A) 99RUK 26t
(B) &

(C) wIae

(D) GoeNyIe

141. QG219 JFIRIRER “C91” @ @2 @&l ?

(A) QU ALY
(B) ¢

(C) desR

(D) 663G g6%

142. G99 692 TRIGS @64 JFlel KGRI
A°GRARAER AR IR ?

(A) 96 A&
(B) 91912 26214

C) I8 20Id
(D) 2LRIIA RERIQ

143, Q6QI8 ARIQ 696S P6TIR TR U@
85 gee ?

(A) RN

(B) 9=

(C) adyeaqd
(D) 69¢ AQAE

)
)
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140.

141.

142.

143.

The first country to allow Voting Rights
for all groups of people was

(A) USA

(B) Russia

(C) India

(D) New Zealand

What is the source of “coin” in teaching
history ?

(A) Literary source
(B) Anthropological source
(C) Archaeological source

(D) None of the above

Which of the following section a student
cannot found in a history museum ?

(A) Geological history
(B) Local history
(C) National history

(D) International history

Which of the following is not a method
of teaching geography ?

(A) Dramatization
(B) Project
(C) Observation
(D) Field trip
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144. QIR JASER CRNE ANITR OIg
a?

(A) QI0Y 98
(B) €QI]
(C) QIRSQ
(D) <AL

145. QQQ Y6Q9Q QRQIY] _ 6QIR
QRIAAAER |
(A) 29 AU SR
(B) RITH6CIY FRRUG
(C) 99 SR
(D) TSI 2 FRAUG

146, 6QQ6 Q@4Q ARR YAIFA
QAR 6G4 ?
(A) 99U 2l6CIAG!
(B) «uee
C) QIHLIR
(D) QKRR

147. 599 OUQ 6296 ARG JAIRIFER CIF
Q2R ARG6R GFQ IR ARIQ 6L ?

(A) Qo4 2RIBe
(B) @qaeet
(C) edeuée
(D)

a1

winvs. @ > ¥ BB

144.

145.

146.

147.

Find the odd one out in respect of
geography teaching.

(A) Textbook
(B) Globe
(C) Map

(D) Charts

Uttar Pradesh’s climate can be referred
as

(A) Humid subtropical climate
(B) Temperate climate
(C) Dry climate

(D) Tropical wet climate

Which is the largest uranium producing
country in the world ?

(A) USA
(B) India
(C) Kazakhstan
(D) Uzbekistan

Which of the following is not a type of
story in story-telling method of teaching
history ?

(A) True story
(B) Legends
(C) Myth

(D) Biography
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150.

Which of the following is not @ sp?ce
symbol which helps us to draw time ine
in teaching history ?

(A) Location
(B) Duration
(C) Distance

(D) Description

Which of the following forests is not
found in Odisha ?

(A) Tropical semi evergreen forest
(B) Tropical wet deciduous forest
(C) Tropical thorn and shrub forest
(D)

D) Coastal tidal forest

Which of the following statements is not
true for sanctuary ?

(A) Cattle grazing is prohibited within
its boundary |

(B) It has less security features

(C) It allows various programmes for
protection of the wildlife

(D) It allows the land to be used for
certain beneficial purposes
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